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17. The square of a number greater than 1000 17. 1000 A el fi den s wia 3 A
which is not divisible by 3 , when divided by 3, e 7l 8, #1 3 @ Rl o3 w o

leaves a remainder of : “ qUTH
a)” 1 always |DO\ \})'/Wl'
b) 2always b) sRw2#
¢ 0 3 ¢ 0
d) Mdﬂm’_} LDDEIX \00) 4 d) 79 & g aft
2 ¥x2 J ()




29. What is the total number of digits printed, 29 qﬁuo“]tnnwthinou

if a book containing 150 pages is to be mmmawmnnm
numbered from 1 to 150 ? UPSC PT 2017 fsafi B2

c) 360 <) 360
d) 450




41. What is the least four-digit number when 41, T 3! ¥ wadt OY&! wam oY= # & R
divided by 3, 4, 5 and 6 leaves a remainder 2 3, 4, 5 3 ¢ A RIS o7 W yile fAufa A

in each case ? UPSCPT 2020 w2 wwan 2
a) 1012 a) 1012 -
b 022 o KX LME@ 1,38
0 1122 0 M2 = k x§d+2
d) 1222 d) 1222
K= |3
[+ X (> +2




X LB/\(H|§,4,?)~2_ ‘-1—-?_:.g-3:é,-“1:q-§-

—~ - -

-~

51. A number is such that when divided by 51. T® Wan ¢0 vor § R 4se w7 @

4,56 or 7 it leaves the remainder 23,4 or 5 fvifSra 73 W ww: 23,4 W 5 B wwar ¥




1. (2%2+ 1)is a factor of which of the 1. (22+1) Frafaf@a 7 @ 5w den &1 e
following number ? 22
n n
X’—k’a ‘K‘\"a
a) (2'%+1) c\g ] a) (2'%+1)
b) (2'¢-1) P ol > b) (2%-1) 1) 3T
b SIS e M’Z%m)%?
d)y (2%+ 1) 32 (296+1)
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2. Consider the following statements : — S* S 3 Prafafla syt w far #if -

I. The product of 4 consecutive even . ,/4 TTAR 9H GSI131 & [ored B
numbers will always have a factor BT 384 BT
which is 384. ﬁ:tmmt@w:ﬁtl
Il. The number 1080 has four factors
which are perfect square. FaffR@T sy A3 FH-TT A €
Which of the following statements are true : a) &ad | SN 2n4x 2'\-&-\1
a) Only| b) Fa Nl & ; /
b) Only It 2 XHXEXY o 1N | o™
& Bothlandll — H‘@')(%’ d) ®Ig i el 2”(h('\+1)(h+z)







Factors ( ]Vl )
3. Which of the following number is a factor 3. Frafaf@a & ¥ #1=9-d "

of (45'+4524+4634454) ? (451+452+ 453+ 454) B fAvTiora
FIA 8 2 e
a) 3 bl 62 63 61 4 3 \/\é K%X\a-
by 10 Y P by 10 (
0 1 0 11 'y x|
d) 13 :L161<l4_\.1+q_+‘13)d) 13 SR AL ?
ks

:H%(H%—Hé'\' 4“1)

ST -
_ I xX
¥ % uxex !+



Factors ( 1]V )

4. Consider the following statements: 4. Frafaf@a sy w fdar Fifen .
i. 3% 4+ 5% has a factor which is 35 1. 394 5% HTIUF 35 81 S~
i. 24x5x7* has 20 odd number as its \/@53 x74 BT 20 U fAaw w@n 2
factors. mtmmﬁ%mm
Which of the following statements are true: e af &
a) Only 1 0 9§D a) Had 1 +|
<) Only 2 2 —\—gﬁ by w2 GOl )

¢) Both1and 2 C ¢ 13R28 -~ UX <

o P P e o)




Factors ( 1]UI® )

5. If n is a natural number, then (6n? + 6n) is 5. ﬂﬁ n WW & t. @ (6n? + 6n)

always divisible by : /y\-:_g__ gawn fvrsg gian 8
6%x3XY

a) 6only - ’,}1_, a) PAA6
_ b)-€and 12 both o U 63 123

¢) 12only n= = \% ¢) Had 12

Ay ieah < o d) Faa1s P

X2_X
5363 cnten = en(n)
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6. A number N? has 15 factors. How many 6. ;:::;:_a:;sm
factors can N have ? o 1Y e
) 5 » i a) 5 /g [ <~
: ; 9
b) 7or9 NL:_ ‘}Kﬁ/ \/:/:23 /
\9/“'8 d) 4716 3;(5
d) 4orb : ‘ N‘l- Fw | 1 E \1
Q_ - “ s
N:FX%X% N:_\r'_‘;ﬁ' '\l ‘-'bx%
. N Exqt
<Q+l)(£+l)CC-H) ﬁ# s s
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